000000 (CO:0000) 20090 120 210
10. 000 z00Oogog,000obbogoooboo

0000 ZzO00O0OOO /0 Z000OO0O0O0O0O0OOO,I000 )a)ooooo
gooo:

() 000 a,becI 0000 a+bel,

i) 000 reZ,aclDOOO rael.
000 )0 r=000000000,Z000000000O00000O000ODODO.
Oo0,000000000 {0}0 ZOODODODODOOO. {0} 000000000, O
goouooobobobbboo oooououoboon.

00 10.1.7,J0 zO00O0O0O0O0O0OO.

()InJO zZOOOODOO0O0O0O0OOO0OO.

(2)IuJ0 Z000000000000000,I+J={a+blacl, beJ}O
z0000000O000000.

00 10.2. (1) Z000000,Z200000000000000000000O0OO
gobooo.

(2)00,Z2000000000000000DOOOOOOO ZOODDOOOOO
gogoooo.

gboboob 4300 zOoooobooobobooboboo,obooobo
gzdooOooobooboooboob. oboooboboobooobooboooboo,z
00000000 I0,00dez0000 (d)0000.00000000 I(d)0O
goboobobooboo,ob0bo0 dzoboob.obobooboobo,0obon
ggboobooodgbbod:

I(d) = {d) = dZ = {md | m € Z}.
oo, 0d0obodoodooooooonooouoon:
I(a, ... an) = {ay,...,ap) = 1 Z+- - +a,Z = {miar+- - -+mpan, | ma,...,m, € Z}.

000000 {(ay,...,a,) 0 (aq,...,a,) 00000000,

00 10.3. a,b,d 00000000, 0000

(1) I(a) CI(b) & b0 a 00O

(2) I(a,b) =I(d) & d0 b 000000

(3) I(a,b) =Z = 1€ I(a,b) < a,b 0000000 1(a,b00000)



00 10.4. 00 b 000000 d000,000 d=sa+th00000 s,t 00
oooooo.

(1) a=52,b=32

(2) a =343, b =42

(3)a=17,b=23
(4) a =222, b= 250
(5) a =169, b =121
(6) a =323, b =154
(7) @ = 2009, b =21
(8) a = 2010, b = 22
(9) a = 65537, b = 257
(10) a = 596, b = 5963



